COURSE TWO – Exercise 1.
Here is the data on the costs and benefits of a telemedicine model to manage patients with chronic diseases at home, thus reducing hospital admissions.  
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Question 1. Work out the change to costs from adopting this, from the perspective of the ‘Hospital’ and then from the perspective of the ‘Hospital + Community services’ 
Question 2. Work out the change to QALYs 
Question 3. What are the findings  
a. When the perspective of the hospital is taken?
b. When the perspective of the ‘Hospital + Community services’ is taken?
Question 4. Would you support adoption if you were: 
a. Manager of the hospital?
b. Manager of the hospital and community services?
c. Minister for health?
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Costs QALY

For the average patient Hospital Hospital + Community Services
Existing Practice $30,000 $35,000 3
Telemedicine model $5,000 $85,000 3.8

Hospital Hospital + Community Services
Change to costs 625,000 $50,000
Chage to QALY 08 08
ICER N/A $62,500
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